Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42-+8

USN 18CV42
Fourth Semester B.E. Degree Examlnatlon, Dec.2023/Jan.2024
' Analysis of Determmate Structures
Time: 3 hrs. £ % Max. Marks: 100

Note: 1. Answer any FIVE full question

1
a.
b.
K
d.

2

3
a.
b.

hoosing ONE full questionaﬁ'om each module.
2.Assume any missing data suitably.

_ Module-1

Draw the Influence Line Dxagram (ILD) for a simply supported beam for the below cases:
ILD for reaction Ry

ILD for reaction Ry -

ILD for shear force at ‘C’.

ILD for moment M at ‘C’ (
Refer Fig.Q1. Load is moving from ‘A’ to ‘B

(20 Marks)

Determine the maximum forces in the members Usz . U3L3 and U,Us; Qf the truss shown in
Fig.Q2, when an uniformly distributed load of 60 kN/m, longer than: the span, moves from

left to right on top chord. Draw the 1nﬂuence line diagram only.
. x > =\E

(20 Marks)

""‘v;&mply supported- beam as shown in Fig, Q3 is subjected to a set of four concentrated loads

which mode from leﬁ to right. Determme
Absolute maxmlum shear in the

2 {2m (1M
—
2
A\ en i , y
Fig.Q3
Also, dravy the Influence line diagram. (20 Marks)
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OR
Determine the maximum forces in the members U;>_U3 , L3U; and LsL4 of the bridge truss
shown in Fig.Q4. If uniformly distributed load of 60 kN/m, longer than the span, traverse
along the bottom chord members. ;

Fig.Q4

Module-3

Determine the slope %md deflection at the free end of a cantilever beam as shown in Fig.Q5
by moment area method Take EI1=4000 kN/m

o S

L

(20 Marks)

(20 Marks)

OR

method

(20 Marks)
- « Module=4
L w;;De:temnne the vertical deflection of point. ‘C’ in the frame shown in Fig.Q7.
‘Given E =200 kN/mm and I = 30x10° mm* by strain energy method.
A{\\W
S
”;”A/_».ér_——-;e
Fig.Q7 (20 Marks)
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OR :
8 A simply supported beam of span ‘L’ carries a concentrated load ‘P’ at a distance ‘a’ from

left hand side support as shown in Fig.Q8. Using Castiglione’s theorem determine the
deflection under the load. Assume uniform flexural rigidity.

7 Fig.Q8 «« (20 Marks)

10
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(20 Marks)




